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Q1) Answer any ten parts of the following : [10 × 1 = 10]

i) If the quantum number l has a value of 2 what will be the values of m quantum number.

ii) Elements of group 18 are called as ___________.

iii) Give one example of SP3 hybridised molecule.

iv) Write the electronic configuration of fluorine.

v) Write the monomer of PVC.

vi) Name one thermosetting polymer.

vii) Name to solid fuels.

viii) The chemical formula of rust is __________.

ix) The electrode used in fuel cell is ___________.

x) CH
3
CHO - IUPAC Name __________.

xi) Which compound is considered in calculating cetane number?

xii) Which process can remove temporary hardness of water?

Q2) Answer any five parts of the following : [5 × 2 = 10]

i) State Aufbau principle.

ii) Compare chemical & nuclear fuel.

iii) Distinguish between temporary and permanent hardners.

iv) Define BOD & COD.

v) Explain proximate analysis of coal with respect to moisture.

vi) Explain SP2 hybridization with example
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vii) Write IUPAC names of the following :

a) CH
3
CH

2
NO

2
b) CH

3
 – CH

2
 – CH – CH

2
 – CH

3

Q3) Answer any two parts of the following : [2 × 5 = 10]

i) Describe EDTA process for removal of hardness of water.

ii) Write short notes :

a) Nylon - 66

b) Bakelite

iii) Explain VSEPR theory with the help of examples.

Q4) Answer any two parts of the following : [2 × 5 = 10]

i) Discuss addition and condensation polymers with the help of examples.

ii) Discuss chemical composition, calorific value and applications of producer gas.

iii) Explain net corrosion by hydrogen evolution mechanism.

Q5) Answer any two parts of the following : [2× 5 = 10]

i) Write IUPAC names of the following :

a) CH
3
COCH

3

b) CH
2
 = CH – CH

2
CH

3

c)

d) CH
3
CH

2
CONH

2

e) CH
3
CH

2
CH

2
 – CHCl

2

ii) Write short notes on :

a) Nernst equation

b) Higher and lower calorific value

iii) What do you understand by the term sterilization by chlorine, UV radiation and reverse osmosis.

CH
3

CH
3
 – CH – CH – CH

3

CH
3

CH
3
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{O¶o &

à.à.à.à.à.1) {ZåZ ‘| go {H$Ýht Xg ^mJm| Ho$ CÎma Xr{OE& [10 × 1 = 10]

i) AJa l ³dm§Q>‘ g§»¶m H$m ‘mZ 2 h¢, Vmo m ³dm§Q>‘ g§»¶m H$m ‘mZ ³¶m hmoJm?

ii) dJ© 18 Ho$ VËd ................ H$hbmVo h¢&

iii) SP3 g§H$[aV AUw H$m EH$ CXmhaU Xr{OE&

iv) âbmo[aZ H$m Bbo³Q´>m°{ZH$ {dÝ¶mg {b{IE&

v) PVC H$m ‘moZmo‘a {b{IE&

vi) W‘m©og§o{Q>J ~hþbH$ H$m EH$ Zm‘ {b{IE&

vii) Xmo H$R>moa BªYZ Ho$ Zm‘ {b{IE&

viii) O§J (rust) H$m amgm¶{ZH$ gyÌ ...................... h¢&

ix) â¶yb g¡b ‘| ...................... Bbo³Q´>m°S> H$m‘ AmVm h¡?

x) CH
3
CHO H$m IUPAC Zm‘ ...................... h¢&

xi) grQ>oZ Z. Ho$ {ZYm©aU ‘| H$m¡Z gm ¶m¡{JH$ H$m‘ AmVm h¢?

xii) AñWm¶r H$R>moaVm H$mo Xÿa H$aZo ‘o H$m¡Z gm VarH$m H$m‘ AmVm h¢?

à.à.à.à.à.2) {ZåZ _| go {H$Ýht nm±M ^mJm| Ho$ CÎma Xr{OE : [5 × 2 = 10]

i) Am’°$~mD$ H$m {gÕmÝV ~VmB¶o&

ii) amgm¶{ZH$ d Ý¶y{³b¶a BªYZ H$s VwbZm H$s{OE&

iii) ñWm¶r d AñWm¶r H$R>moaVm ‘| ^oX H$[a¶o&

iv) BOD d COD H$s n[a^mfm {b{IE&

v) H$mo¶bo H$m AmÐ©Vm H$m àmop³g‘oQ> {díbofU g‘PmB¶|&

vi) SP2 g§H$aU CXmhaU g{hV g‘PmBE&

iv) {ZåZ{b{IV Ho$ IUPAC Zm‘ {b{IE&

a) CH
3
CH

2
NO

2
b) CH

3
 – CH

2
 – CH – CH

2
 – CH

3

à.à.à.à.à.3) {ZåZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE : [2 × 5 = 10]

i) H$R>moaVm Xÿa H$aZo H$s EDTA à{H«$¶m g‘PmBE&

ii) g§{já {Q>ßnUr {b{IE :

a) Zm¶bm°Z - 66 b) ~oHo$bmBQ>

iii) VSEPR {gÕmÝV CXmhaU g{hV g‘PmB¶§o&

CH
3
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à.à.à.à.à.4) {ZåZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE : [2 × 5 = 10]

i) ¶moJerb d gK§ZZ ~hþbH$ H$mo CXmhaU H$s ghm¶Vm go ñnï> H$s{OE&

ii) àmoS²>¶yga J¡g H$s amgm¶{ZH$ g§aMZm, H¡$bmo[a{’$H$ ‘mZ d Cn¶mo{JVm ~VmBE&

iii) hmBS´>moOZ Bdmoë¶yeZ go AmÐ© g§jmaU (Net corrosion) {d{Y g‘PmBE&

à.à.à.à.à.5) {ZåZ _| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE : [2 × 5 = 10]

i) {ZåZ{b{IV Ho$ IUPAC Zm‘ {b{IE&

a) CH3COCH3

b) CH
2
 = CH – CH

2
CH

3

c)

d) CH3CH2CONH2

e) CH
3
CH

2
CH

2
 – CHCl

2

ii) g§{já {Q>ßnUr {b{IE :

a) Z©ÝgQ> g‘rH$aU

b) CÀMVa d {ZåZVa H¡$bmo[a{’$H$ ‘mZ

iii) ³bmoarZ, UV {d{H$aU d {dnarV namgaU go nmZr Ho$ ñQ>abmBOoeZ go Amn ³¶m g‘PVo h¢



CH
3
 – CH – CH – CH

3

CH
3

CH
3


